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QUESTION 1

During the test execution defects are found on non-compliancy to requirements, calculations that produce incorrect
results, and improper handling of data or situations. Which of the following test types is most likely being performed?
[K2] 1 credit

A. Usability testing

B. Interoperability testing

C. Accuracy testing

D. Suitability testing

Correct Answer: C

QUESTION 2

What is the MOST important reason why test conditions should be understandable by stakeholders? [K2] 1 credit
A. They should be able to review the test conditions and provide feedback to the test analyst

B. They should be able to use them as a basis for designing test cases

C. They should be able to use them to establish traceability to requirements

D. Test documentation should always be understandable by all stakeholders

Correct Answer: A

QUESTION 3

Working together with the test manager during test planning, which of the following activities is NOT expected to be
performed by the test analyst?

[K2] 1 credit

A. Review the test estimates of the test manager
B. Review the test plan for non-functional testing
C. Organize adequate test resources

D. Being involved in risk management sessions

Correct Answer: C

QUESTION 4
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Supercar Supercar is an online vehicle sales website specializing in single manufacturer\\'s Sports Utility Vehicles

(SUVs) and saloons. A vehicle has two key elements, power unit and body style. The manufacturer offers three choices
of power unit: petrol, diesel and hybrid. There are 3 main body styles: Saloon, Hatchback and SUV. SUVs only come as

petrol and diesel options. Hybrid is available for Hatchback only. The site will allow an order to be processed if the
chosen vehicle configurations are in stock, otherwise a message will be displayed asking the user to try again later.
Based on the specification the following classification tree has been developed:

Body Style

L i- L] L } L]
D 3 O

Based on the "Supercar" classification tree the following positive test cases have been created:

Test case Power Unit

Body Style

1 Petrol

SUV

2 Diesel

Saloon

3 Petrol

Hatchback

Which test case is needed to complete the set? [K3] 2 credits
A. Power Unit: Hybrid, Body Style: Saloon

B. Power Unit: Diesel, Body Style: Hatchback

C. Power Unit: Petrol, Body Style: Saloon

D. Power Unit: Hybrid, Body Style: Hatchback

Correct Answer: D

QUESTION 5
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Using the "Tax System" specification scenario as described above, using boundary value analysis, which would be the
most interesting test set to explicitly test one single boundary value as defined in the "Tax System" specification?

Test set (i)
Civil Status | Salary | Number of Children
Maried | € 20.000| 4
' Not Morried | € 22.000 | 3 I
Married |'€ 18.000 2

Test set (ii)

Civil Status | Salary | Number of Children |
| |

R n— e ——

Not Married | € 19.000 8
Not Married | € 20.000 | & ‘
Married | €50.000 4

Test set (iii)

Civil Status | Salary | Number of Children

'Morried | € 20.000 10
Not Married | E?E‘.DOB? 5
Not Married | € 20.001 | 0

I Test .n!r {iv)

Civil Status | Salary | Number of Children.

ot Married | €22000] 1
NotMorried | €800 3|
|
Merried J' € 18.000 3

[K3] 3 credits
A. (i)

B. (ii)

C. (iii)

D. (iv)
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Correct Answer: D
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